



































" foiiﬂwmg statements -

paicie’

{2 : i

L dies indicate  that carbon
i pnissions fin
ﬁ,account for fgore than 5%
arbon emzss: _;‘3

iaifmﬂnt e ;
b]!]ﬂﬂ-‘bﬂartﬂg L"lEI."I 15 mﬂiﬂd Wit.h.

lim-.-.stone while manufacturing

ﬂmtcmﬂn& lll
Limestone is converted into lime
during ~clinker production for
"t cement manufacturing.

Which ene of the following is correct
rﬂﬂP"-"i of the above Hmtﬂmﬂﬁm ‘@-

Both Statement Il and ﬁtq emen: )
are correct and huth. g
ggpla.m Siatement |

Only one of th.l:
I is mrrcct




o cimate

gilets

T HrOMOLe @
o gics to_reach th
(argets. N
-—"""
hich one of the
et of the abe







! f:}m"“df' EJ?‘“O wing countries
[ 1 ,n,usma
1 Bu jgaria

—Croatia

v ST v,
\,:Ich'&?&m \/ >
y1, North Macedonia /

How many of the above are
the North Atlantic Treaty . ‘m

I

oy three. R Oni:? m

er the foll
Bolivia

Jﬂ./ Colombia

v. Paraguay

ﬁndes mountains.
many of the. above

(@ Only two

3. Cong







the fq!lc}wlng statements abou[
m Mohan Roy :

poﬁsﬂSSEd great
for the

cespect _ tra
pmmsophmn! systems of

He Jesired his countrymen
accept the rational and !Bie c

pprBf.
puman dignity and Boﬁia] _'
of all men and women, iality

[

which: of (he statements given above.
:‘Siﬂ_rf CQIT&'C'.’? : -
ial [ionly

bl 11 ondy

[¢) Bothl and Il

[d) Neither I nor 11




nong the following led
2 s
Cm:s
sful

i Who il
g it tary compalgn aganst
ol "r"n jjay&, the ]:-‘C’Wﬂrfthe kingde
yhich ruled the Ma];: Pmmtlr::;
eninsula,

cmlé
qumﬁ“a Java and th
€ n
clghbumnn

B

nds?

jsla

mpghavarsha (R
ashtralk

@ A

1t Pmiapamdra (K
akati
ya)

i) Rajendra 1 (Chola)

(dl} Vishnuvardha
na (Hoysala
el

41, With reference L
Iﬁﬂﬂ-«322 BC), cnr:;idgr th
th

pairs !

Territorial
region




-« to investments, consider

[1. Hedge Funds

V. Venture Capital
he above Bré tre
strnent Funds? ated as

(b} Only two

ﬂ All the four

e following are the source
the Reserve Bank of lnd?a??r

i and sellin

| ..-bundsg g Government
/" Buying and selling foreign curren

/ pension fund management ency

/}md:’ng to private companies
)7 Printing anumwm
. %@Eﬁ lrency
st the correct answer Using the

y of 1
e Inve

Sel

Aven below.

| and

1, i and IV

1, i1, &7 and V

yith reference 1o
pif India, cﬂ“ﬁidﬁi‘

information :




following statements ;

returns from an

1-.,1_}"']:‘]'“. mn A CDmpanY.
W' bondholders are
to be relatively at lower

ﬂ.ﬁ‘r-‘lH"r
n:n'““"h red
than stoc

at IL:

gtatepr=”
" /gondholders Aare lenders to a

mmpam whereas stockholders are

its OWTIETS:

: kholders.
rt‘:f\

-. T{Jﬂf’ﬂ.r IH‘
/ For Tepay ment purpose, bond-

o holders arc  prioritized  gver
stock holders by a company,
Wwhi ich ogne '.'J'T the IOHOWII'.IE 13 cumjn
respeti of the above statements?.
la) Both Statement 1l and Stﬂhmtm
" are correct and both of th
explain Statement |
Both Statement | and mm.m
are correct and Stg ent |
explains Statement II g -
Only one ‘of the Staf:
and [l is correct and
Statement | B
(d) Neither Statement 11 no
{I is correct B

, Consider the following
India accounts
21

portion of
contracis tra
uhihﬂing-a -

)

fet

_________




